NTU-Dissociation constants of some common acids A-1

Dissociation Constants of Some Common Acids

(25°C)
Compound Dissociation Reaction Ka pKa
Acetic acid CH3COzH == CH3CO; + H* 1.75x10°  4.757
Ammonium ion NHs* == NH3+ H* 5.8x101°  9.24
Arsenic acid H3AsOs == HAsOs + H* 6.0x107 2.22
H2AsO4 == HAsO4> + H* 1.0x1077 7.00
HASOs> == AsO,* +H* 3.0x10% 1152
Arsenous acid H3AsOs == HAsOsz + H* 6.0x101°  9.22
H2AsO3” == HAsO3z* + H* 3.0x10* 13,52
Benzoic acid CeHsCOz2H == CsHsCOz + H* 6.3x10° 4.20
Boric acid H3BO3; == H2BOsz + H* 7.3x10%  9.14
Carbonic acid H2CO; == HCO3 + H* 45%x107  6.35
HCO3 == COs* + H* 4.7x10  10.33
Chloric acid HCIO; == CIOs + H* 5.0x102  -2.70
Chloroacetic acid  CICH2CO;H == CICH.COy + H* 1.4x10°%  2.85
Chlorous acid HCIO, == CIO; + H* 1.1x102  1.96
Chromic acid HoCrOs == HCrOs + H* 9.6 -0.98
HCrOs == CrOs* + H* 3.2x107 6.50
Citric acid HsCit == HCit + H* 7.5x10% 3.3
H.Cit == HCit>* + H* 1.7x10° 4.77
HCit> == Cit> + H* 4.0x1077 6.40
Dichloroacetic acid CI,CHCO;H == CI;,CHCO;" + H* 5.1x107? 1.29
Formic acid HCO;H == HCO; + H* 1.8x10%  3.75
Glycine HsN*CH2CO2H == H3N*CH.CO7 + H* 4.5x107® 2.35
HsN*CH2CO, == HNCHCQOz + H*  2.5x10%°  9.60
Hydrazoic acid HN3 == Nz +H* 1.9x10°  4.72
Hydrobromic acid = HBr == Br + H* 1x10° -9
Hydrochloric acid  HCl == CI'+H* 1x106 -6
Hydrocyanic acid HCN == CN +H" 6x10710 9.22
Hydrofluoric acid HF == F +H" 7.2x10%  3.14
Hydroiodic acid HI == I'+H* 3x10° -9.5
Hydrogen peroxide H20; == HOy + H* 2.2x10%2  11.66
Hydrogen selenide H.Se == HSe + H" 1.0x10* 4.00
Hydrogen sulfide ~ H2S == HS +H* 1.0x107  7.00
HS == S +H" 1.3x10®  12.89
Hypobromous acid HOBr = OBr + H" 2.4x107° 8.62
Hypochlorous acid HOCI == OCI + H* 2.9x10®% 754
Hypoiodous acid ~ HOIl == OI' + H* 2.3x101 10.64
lodic acid HIOs == 103"+ H* 0.16 0.80

Nitric acid HNO3 == NO3z + H* 28 -1.45
Nitrous acid HNO> == NO, + H* 5.1x10* 3.29




A-2 NTU-Dissociation constants of some common acids

Compound Dissociation Reaction Ka pKa
Oxalic acid H,C204 == HC,04 + H* 5.4x102 1.27
HC,04 == Cy04* + H* 5.4x107° 4.27
Perchloric acid HOCIO3 == ClO4 + H* 1x108 -8
Periodic acid Hsl0s == HslOg + H* 2.3x1072 1.64
Phenol CeHs0H == CgHsO + H* 1.0x10° 10.00
Phosphoric acid H3POs == HPOs + H* 7.1x10°% 215
HoPOs == HPOs* + H* 6.3x108 7.20
HPO4? == PO +H* 42x108  12.38
Phosphorous acid ~ H3PO3 == H,PO3 + H* 1.00x102  2.00
H2PO3 == HPO3* + H* 2.6x107  6.59
Sulfamic acid H,NSOsH <= HoNSOs3 + H* 1.03x10*  0.987
Sulfuric acid H,SOs == HSO4 + H* 103 -3
HSO4 == SQs* + H* 1.2x102  1.92
Sulfurous acid H,SO3 == HSOsz + H* 1.7x107 1.77
HSO3 == SQsz% + H* 6.4x10°8 7.19
Thiocyanic acid HSCN == SCN"+ H" 71 -1.85
Trichloroacetic acid ClIsCCO2H == CIsCCO; + H* 0.22 0.66




